
 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

347 54 79 140 74

41% 34% 39% 49% 38%

ABD

492 105 123 145 119

59% 66% 61% 51% 62%

C C C

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

No

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_1 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increases to the City’s Land Transfer Tax

REGION

Yes



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

72 60 98 89 75 272

46% 44% 41% 41% 39% 42%

85 75 140 127 115 377

54% 56% 59% 59% 61% 58%

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_1 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increases to the City’s Land Transfer Tax

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

276 40 66 110 61

33% 25% 33% 39% 31%

A

563 120 136 175 132

67% 75% 67% 61% 69%

C

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

No

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_2 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increases to property taxes

REGION

Yes



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

51 34 90 83 53 223

33% 25% 38% 38% 28% 34%

F F

106 101 149 133 137 426

67% 75% 62% 62% 72% 66%

GH

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_2 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increases to property taxes

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

358 49 90 151 69

43% 31% 45% 53% 36%

A AD

481 111 112 134 124

57% 69% 55% 47% 64%

BC C

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

No

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_3 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Alternative new taxes

REGION

Yes



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

69 41 108 107 84 274

44% 30% 45% 50% 44% 42%

F F F

88 94 130 109 106 375

56% 70% 55% 50% 56% 58%

EGH

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_3 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Alternative new taxes

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

264 49 67 83 65

32% 31% 33% 29% 34%

575 111 134 202 128

68% 69% 67% 71% 66%

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

No

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_4 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Reductions in City services

REGION

Yes



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

45 40 80 74 58 207

29% 29% 33% 34% 30% 32%

112 95 159 142 132 442

71% 71% 67% 66% 70% 68%

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_4 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Reductions in City services

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

672 113 165 234 161

80% 71% 82% 82% 83%

A A A

167 47 37 51 32

20% 29% 18% 18% 17%

BCD

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

No

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_5 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increased provincial government contributions to the City’s Budget

REGION

Yes



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

125 111 198 166 153 519

80% 82% 83% 77% 81% 80%

32 24 41 50 37 130

20% 18% 17% 23% 19% 20%

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

   Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

Q.1_5 The City of Toronto is currently reviewing its budget for 2017.  The City’s Budget Committee is considering options to deal with a gap of approximately $90 million. Which of the following 

should be included in a strategy for City Council to address the gap in the 2017 City Budget - Increased provincial government contributions to the City’s Budget

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

564 96 132 199 137

67% 60% 66% 70% 71%

A A

252 46 52 93 61

30% 29% 26% 32% 31%

312 50 80 107 76

37% 31% 40% 37% 40%

275 64 69 86 56

33% 40% 34% 30% 29%

CD

154 36 42 51 25

18% 22% 21% 18% 13%

D D

121 28 27 35 31

14% 17% 13% 12% 16%

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

   Strongly oppose

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Strongly support

   Somewhat support

Bottom 2 Box (Net)

   Somewhat oppose

   Minimum Base: 30 (**), Small Base: 100 (*)

Q.2 Currently, first-time home buyers can qualify for a rebate of the Toronto Land Transfer Tax of up to $3,725, equal to the Toronto Land Transfer Tax owing on a $400,000 property.   As such, first-

time home buyers who purchase a home priced up to $400,000 do not pay the tax.  First-time home buyers who purchase a home priced over $400,000 pay the amount of tax owing over the 

allowed rebate of $3,725.  The current average home price in Toronto is $770,000, which equates to approximately $11,000 payable in Toronto Land Transfer Tax.  As such, a first-time buyer who 

purchases an average-priced home would be required to pay a balance of $7,275 in Toronto Land Transfer Tax.

To what extent would you support increasing the allowed Toronto Land Transfer Tax rebate for first-time home buyers, to reduce the amount of tax that these buyers are required to pay?

REGION

Top 2 Box (Net)



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

112 95 161 142 124 440

71% 70% 67% 66% 65% 68%

52 36 77 66 57 195

33% 26% 32% 30% 30% 30%

61 59 84 76 67 245

39% 44% 35% 35% 35% 38%

45 40 78 74 66 209

29% 30% 33% 34% 35% 32%

28 25 46 33 35 119

18% 18% 19% 15% 19% 18%

17 15 32 41 30 90

11% 11% 13% 19% 16% 14%

E

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Q.2 Currently, first-time home buyers can qualify for a rebate of the Toronto Land Transfer Tax of up to $3,725, equal to the Toronto Land Transfer Tax owing on a $400,000 property.   As such, first-

time home buyers who purchase a home priced up to $400,000 do not pay the tax.  First-time home buyers who purchase a home priced over $400,000 pay the amount of tax owing over the 

allowed rebate of $3,725.  The current average home price in Toronto is $770,000, which equates to approximately $11,000 payable in Toronto Land Transfer Tax.  As such, a first-time buyer who 

purchases an average-priced home would be required to pay a balance of $7,275 in Toronto Land Transfer Tax.

To what extent would you support increasing the allowed Toronto Land Transfer Tax rebate for first-time home buyers, to reduce the amount of tax that these buyers are required to pay?

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION



 

Total Etobicoke 

& York

North York Toronto & 

East York

Scarborough

A B C D

Base: All Respondents 839 151 215 290 183

         

Base: All Respondents (wtd) 839 159 201 285 193

         

351 60 83 136 71

42% 38% 41% 48% 37%

AD

115 19 27 41 28

14% 12% 13% 14% 15%

235 41 56 96 43

28% 26% 28% 34% 22%

D

488 99 118 149 122

58% 62% 59% 52% 63%

C C

250 50 66 66 68

30% 32% 33% 23% 35%

C C

238 49 53 83 54

28% 31% 26% 29% 28%

839 159 201 285 193

100% 100% 100% 100% 100%

Table of contents

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

   Strongly oppose

Sigma

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Strongly support

   Somewhat support

Bottom 2 Box (Net)

   Somewhat oppose

   Minimum Base: 30 (**), Small Base: 100 (*)

Q.3 The City of Toronto is considering changes to its Toronto Land Transfer Tax that would result in charging an additional 0.5% on the value of the home between $250,000 and $400,000.  For the 

purchaser of an average-priced Toronto home, this would result in an additional $750 of Toronto Land Transfer Tax, representing a 7% increase in the tax.

To what extent do you support or oppose the proposed increase in Toronto Land Transfer Tax rates on the value of the home between $250,000 and $400,000?

REGION

Top 2 Box (Net)



<$40K $40K - 

<$60K

$60K - 

<$100K

$100K+ Kids No Kids

E F G H I J

158 134 237 217 188 651

           

157 135 238 216 190 649

           

80 53 99 86 81 269

51% 39% 42% 40% 43% 41%

H

23 10 36 37 32 83

14% 8% 15% 17% 17% 13%

F F

57 43 63 49 49 186

36% 32% 26% 22% 26% 29%

GH

78 82 139 130 108 380

49% 61% 58% 60% 57% 59%

E

40 44 74 63 48 202

25% 32% 31% 29% 26% 31%

38 38 65 67 60 178

24% 28% 27% 31% 32% 27%

157 135 238 216 190 649

100% 100% 100% 100% 100% 100%

- Column Means: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Overlap formula used

- Column Proportions: 

   Columns Tested (5%): A/B/C/D,E/F/G/H,I/J

   Minimum Base: 30 (**), Small Base: 100 (*)

Q.3 The City of Toronto is considering changes to its Toronto Land Transfer Tax that would result in charging an additional 0.5% on the value of the home between $250,000 and $400,000.  For the 

purchaser of an average-priced Toronto home, this would result in an additional $750 of Toronto Land Transfer Tax, representing a 7% increase in the tax.

To what extent do you support or oppose the proposed increase in Toronto Land Transfer Tax rates on the value of the home between $250,000 and $400,000?

HOUSEHOLD INCOME HOUSEHOLD 

COMPOSITION


